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(6x+ 5)(x* + 5x— 2) — (x + 1)(5x — 4) (6x+ 6)(3x — 3)(x — 3)
(4x° — x+4)(x+3)+4 x 2+ 4 (6x— D(3x+ DH(2x— 1)
6x + (2+x)(6x — S)(x + 5) (2x+ 3)(6x + 1)(x— 4)

(5x% — 5x — 1)(2x + 6) + Sx +2 (3x* + 6)(3x—5) + 4 —x + 4

Sx+ (1 - x)(6x — 4)(4x — 6) (5x° = H)(3x— 1) + 6x* —3x + 4
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(6x+ 5)(0% + 5x— 2)— (x + 1)(5x — 4)
6>+ 30x° + 12x— 6

(4% — x+4)(x+ 3)+4 x 2+ 4
4% + 11x% + 9x+ 16

6x + (2 +x)(6x— 5)(x+ 5)
6x° + 37x% + 31x — 50

(52 = 5x— 1)(2x + 6) + 5x + 2
100 4+ 2062 — 27x— 4

S5x+ (1 —x)(6x— 4)(4x— 6)
—24x> + 76x° — Tlx + 24

(6x+ 6)(3x— 3)(x — 3)
18x° — 54x% — 18x + 54

(6x— DBx+ 1)(2x— 1)
36x° — 12%° — 5x+ 1

(2x + 3)(6x + 1)(x — 4)
12x° — 28x% — 77x — 12

B2+ 6)3x—5) +4’ —x+4
o — 112 + 17x— 26

(52— 4)Bx— 1)+ 6% —3x+4
152+ x> — 15x+ 8
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